CADA - Electrodiffusion

C - Mathematical reformulation

The following system of partial differential equations with initial and boundary conditions describes
problem of electrodiffusion (for the details - see section B)
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In this section mathematical reformulation of the problem given by eqns. (1)-(2) suitable for
obtaining solution to the problem is presented.

Let us introduce the following notation:
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where L,t,c.,.. E.. — characteristic values
Using (3) we can calculate:
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Using (4) we can rewrite equations (1)
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Finally we get:
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In the further part of the text for simplicity we will omit “bars” in the equation (8) and we will analyze

the numerical solution of the following problem
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